[ Efficiency_in_layer_4 §}

efficiency

1
0.9
0.8
0.7
0.6
0.5

EPAFS S A2 ad A gt S a2 A g T2 e v S 2 2 2t et ad 2 22 a2 A ad 2
wheel 1 chamber 2 sector 2 sl 1 layer 4 I
| 10 20 ol 40 50 c@p

[Efficiency in layer 3 }

efficiency

1

09

0.8
0.7
0.6
0.5

§...mﬂiﬁmﬂiomﬂ.im“mimiﬂmﬁoieim&“w
wheel 1 chamber 2 sector 2 sl 1 layer 3 I
10 20 30 40 50 [0

[ Efficiency in layer 2 |

efficiency

>

efficienc

1 l*ﬁ,oommﬁo“Wﬁ.mﬂi“imoiom‘mi“ieﬁoi“ o
09
0.8 —
0.7 —
0.6 =
wheel 1 chamber 2 sector 2 sl 1 layer 2 I
0.5 ; — i —
10 0 cio) 40 50 60
[ Efficiency in layer 1 ]
1 - 0009900500000 0,000000000000%¢90%009000000000009000000097,
2
0.0
0.8 —
0.7 —
0.6 —
05 wheel 1 chamber 2 sector 2 sl 1 layer 1 I
' O 0 <ol 40 50 60



